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B6 sung (Ngang) Ho va Tén:
Giai cac cau hoi. Cau tra loi
D 15+3=
1.
2) 52+15= 2.
3,
3 16+8=
4,
Y 29+11= .
S 14+ 1= 6.
7.
6) 60+31=
8.
N 2+1=
9.
8) 863 +55= 10.
1.
N 31+17=
12.
13.
1) 34+2= 14.
15.
12) 637 +25=
13) 39+6=
14) 798 + 178 =
. 1-10 {93 [87[80[73 676053474033 ]
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Ho va Tén: Lol giiii

Giai cac cau hoi.

D 15+3= 18
2) 52+15= 67
) 16+8= 24
49 29+11= 40
S 14+1= 15
6) 60+31= 91
N 2+1= 3

8 863+55= 918
9 31+17= 48
10) 2+ 1= 3

1) 34+2= S

12) 637+25= 662
13) 390+ 6= 45
14) 798 +178= 976
15) 4+ 1= 5

Cau tra loi

10.

11.

12.

13.

14.

15.

18

67

24

40

15

91

3

918

48

662

45

976
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Cll# B6 sung (Ngang) Ho va Tén:

Giai cac ciu héi. Cau tra loi
67 91 40 18 15
918 3 3 48 24 1.
D 15+3= 2.
3.
2) 52+15= A
5.
3) 16+8=
6.
7.
49 290+11=
8.
9.
) 14+1=
10.
6) 60+31=
8) 863 +55=
9) 31+17=

. Puoc thay doi béi 1-10 [90]80[70]60[50[40[30]20]10] 0 |
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